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We are all well aware that a major problem in the IT industry is that there is a lack of quality study materials. Our exam preparation

material provides you everything you will need to take a certification examination. Our Cisco 300-370 Exam will provide you with

exam questions with verified answers that reflect the actual exam. These questions and answers provide you with the experience of

taking the actual test. High quality and value for the 300-370 Exam. 100% guarantee to pass your Cisco 300-370 exam and get your

Cisco certification.  Following questions and answers are all new published by Cisco Official Exam Center: 

http://www.lead2pass.com/300-370.html QUESTION 41 Refer to the exhibit. A new wireless deployment with high AP density is

experiencing high latency and connectivity issues on the 24 GHz band, despite an initial site survey done by a certified partner.

Which option is the most impactful change a wireless consultant recommends? 

  A.    Increase the fragmentation threshold to allow larger packets over the air. B.    Reduce the beacon period because it reduces the

RF interference. C.    Disable lower data rate, such as 1 Mbps and 2 Mbps. D.    Disable the short preamble. E.    Disable 80211g

support to reduce interference. Answer: C QUESTION 42 An engineer is concerned about rogue-on-wire and wants to enable port

security. Which guideline must the engineer follow? A.    Configure Switched Port Analyzer destination ports as secure. B.    Use

802 1x with port security to prevent MAC spoofing. C.    Enable port security on dynamic access ports. D.    Employ static MAC

address configuration for APs with port security. Answer: A QUESTION 43 An alarm is reporting that one of four ports of a lag

group have gone down on a wireless LAN controller. Which troubleshooting methodology can be used to begin the troubleshooting

process? A.    shoot from the hip B.    bottom-up C.    top-down D.    follow the path E.    divide and conquer Answer: B QUESTION

44 Which ports require unrestricted port access for CleanAir RF spectrum analysis between the AP and Cisco Spectrum Expert? A.  

 UDP 5246 and 5247 B.    UDP 37540 and 37550 C.    TCP 16113 and 16114 D.    TCP 37540 and 37550 E.    TCP 5246 and 5247

F.    UDP 16113and 16114 Answer: D QUESTION 45 Refer to the exhibit. A client reports being unable to log into the wireless

network, which uses PEAPv2. Which two issues appear in the output? (Choose two)  

  A.    The AP has the incorrect RADIUS server address B.    There is a problem with the client supplicant C.    The AP has lost IP

connectivity to the authentication server D.    The authentic at ion server is misconfigured on the controller E.    The EAP client

timeout value should be increased F.    The authentication server is misconfigured in the WLAN Answer: AE QUESTION 46 A

Cisco WLC v7.0 is not seeing an AP join. Which starting prefix debug command can help determine a combination of

discovery/join and DHCP process status? A.    debug capwap events - from Cisco WLC B.    debug capwap events - from the AP C.  

 debug ip udp - from Cisco WLC D.    debug ip udp - from the AP Answer: D QUESTION 47 Refer to the exhibit. Which two

statements about the WLAN are true? (Choose two)  
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  A.    The client has a 5 GHz connection. B.    The client has authenticated. C.    The client is 802.11n capable. D.    The Cisco

device is a 3600 series AP. E.    802 11b data rates are disabled in this WLAN Answer: AB QUESTION 48 Which feature should a

network engineer enable within a mixed-client network to ensure that the legacy client operates at the best possible rates? A.   

ClientLink B.    RRM C.    DCA D.    Band Select Answer: A QUESTION 49 A wireless user is experiencing connectivity issues

with their Mac OS laptop. If the Mac is exhibiting the behavior of a "sticky client," how can the tech verity which AP the user is

currently connected to? A.    Hold shift while clicking the wireless icon. B.    Hold option while clicking the wireless icon. C.    Hold

control while clicking the wireless icon. D.    Hold command while clicking the wireless icon. Answer: B QUESTION 50 A network

engineer is troubleshooting why EAP authentication with a client is failing. Which two commands should be used to resolve the

issue? (Choose two) A.    debug dot1x notifications enable B.    debug dot1x events enable C.    debug arp D.    debug aaa detail

enable E.    debug aaa events detail enable Answer: BE  The Cisco 300-370 questions and answers in PDF on Lead2pass are the

most reliable study guide for 300-370 exam. Comparing with others', our 300-370 dump is more authoritative and complete. We

provide the latest full version of 300-370 PDF and VCE dumps with new real questions and answers to ensure your 300-370 exam

100% pass.  300-370 new questions on Google Drive: https://drive.google.com/open?id=0B3Syig5i8gpDeXZTcXZnWk5naVU

2016 Cisco 300-370 exam dumps (All 70 Q&As) from Lead2pass: http://www.lead2pass.com/300-370.html [100% Exam Pass

Guaranteed]
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